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@) RS
FmiEs HY 160K
HHEED 2-31.5 2-315
RS AP, =21MPa 120, 160. 250. 400 120. 160. 250. 400
QniL/min) | 1 p —7MPa 75. 95, 150. 230 75. 95. 150. 230
HERBSE (%) =10 10
FEB#EIN (mA) 15 40 15 40
SEEE(Q) 200 80 200 80
IR (%) =4 =2
SR (%) =<1 =0.5
e (%) =75 =3
THWE (%) =10 =10
TR (%) =2 =%2
EE (%) =+25 =t+25
AiE(L/min) =4~6 =4.5~6.5
FEhitiE (%Ps/1%In) >30 S50
BEERERE (AT=40TC) (%) =12 =t2
HERENET(B0% ~ 100%) P, (%) =+2 =+2
EREAER (0~-20%) P, (%) =x2 =+2
MEEFTEAa=10g (%) =42 =+2
>35 (120~160L/min) >50 ( 120~160L/min )
g EME(-3dB)(Hz) >30 ( 250L/min) >40 ( 250L/min)
: >20 (400L/min ) >20 (400L/min )
>35(120~160L/min) >50 (120~160L/min )
BsmE(-90° ) (Hz) >30 ( 250L/min ) >40 ( 250L/min )
>20 (400L/min) >20 (400L/min)
BEBE(T) -25~105 -25~105
FEi (Kg) =3.8 =3.8
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